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6. The OMR Answer Sheet is inside this Test Booklet. When
you are directed to open the Test Booklet, take out the Answer
Sheet and fill in the particulars carefully with blue ball point
pen only.

7. 1/3 part of the mark(s) of each question will be deducted
for each wrong answer. A wrong answer means an incorrect
answer or more than one answers for any question. Leaving all
the relevant circles or bubbles of any question blank will not
be considered as wrong answer.
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any of such objectionable material with him/her will be strictly
dealt as per rules.

9. Please correctly fill your Roll Number in O.M.R. Sheet.
5 Marks can be deducted for filling wrong or incomplete Roll
Number.
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1. Which of the rfc')llov:.wsrin,g-; have the most
negative electron gain enthalpy?
(1 p (2 s
@) (4) F

2. The correct decreasing order for first
jonisation enthalpy among the following is - ~
(1) C>N>0>F (2 0>N>F>C
() 0>F>N>C (4) F>N>0>C

3. Match list-I with list-II -
List -1
(I) XeF4
(IN) BrFs
(I11) CIFs
(IV) SFs
List-1I
{(a) T-shape
{b) Square planar
(c) See-saw
(d) Square-pyramidal
) () -a, () - b, (II)) -¢, (IV) -d
@ O-d,(I)- c,JID)-b,(IV)-a
@) -d@-b,(M)-c(IV)-a
@ (D-b,{)-d,(M)-a(dAV)-c

4. Which of the following pair has same bond

-~ ny
~ - ™~

1. fefafag 4§ 9 foga goagq afer e
AMBTH FUHD B°
Mmp (2 s
3 a @ F
2. Frfafaa 3 vem s el o1 "edl gan
Twrmad -
(1) C>N>0>F (2 0O>N>F>C
®) O>F>N>C 4 F>N>0>C
3. WA -1a - 1¥ fem aifom ~
g1
(I) XeFs
(I} BrFs
(111) CIF3
(IV) SFs
- 1
(a) T -ngpfcr
(b) & FHRTell
(c) St
(d) o s
() ()-a, ()~ b, () -c, (IV)-d
2 M-4d,{0-c(I)-b,(IV)-a
@ (O)-d,{I0)-b,{1I)-c(IV)-a
@ ()-b,{I) - d,{I)-a, (V) -c
. Prafaied % 9 fow 7= § 99 w9 GuE 7

o

order?
(1) Nz, CL (2 0%, F, 1) N, Cl2 (2) 05*,F,
(8) NO*, CO @) 0, N, (3) NO*,CO @) 03N,
5. The hybridisation of Xe in XeOFs molecule ~ 5- XeOF4317 % Xe &T |aw © —
is-
(1) dsp? (2) sp3d? (1} dsp? (2) sp3dz
(3) sp3d (4) sp3ds (3} sp3d (4) sp3d3
6. Which of the following molecule is 6. anfdas Hue Rigia @ IqaR Fefele 4
paramagnetic according to molecule orbital | B AT 3] SF[GIP 87
theory?
(1) 02 @ F2 (1 0, @ F
3) N2 3 C; (3) N (4 C:
7. The state of hybridisation of C in graphite is - 7. JHEe H C P HHIOT G0 & ~
(1 sp (2) sp2 (1) sp (2) sp2
(3) sp3 (4) sp3d (3) sp3 (4) sp3d
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8. Among the halides SnFz, SnFsi, SnClz and 8. %Hrss'ﬁ SnFz, SnFs, SnClz TIT SnClLe® ¥ I
SnCls, which one is the least covalent? T TE HH TEAGISTD 87
(1} SnF2 (2) SnF4 (1} SnF: (2) SnF.

() SnCl (4) SnCls (3) SnCl: {4) SnCls
9. Jonic bonds are easily formed between 9. e ey Heerar 9 59 Tl @ 9= g
elements with - E St o
(1) High ionisation enthalpy and high (1) =1 IR T iR SeraerT wifeT vk
positive value of electron gain enthalpy. BT I SE[HP 79

(2) High ionisation enthalpy and high (2) =1 I U 3R TorgelT wifer usied)
negative value of electron gain enthalpy. Bl 92 FIHD 91

(3) Low ionisation enthalpy and high @) Py e Wil o gergei o voedi
positive value of electron gain enthalpy. ] o D

(4) Low ionisation enthalpy and high (@) T s W o SorT R T
negative value of electron gain enthalpy. e

10. The repulsive interaction of electron pairs  10- golagi® g4 o RS =T g
decreases in the following order - feferRe w9 # wed € -
(1) lp-lp>bp-bp>lp-bp (1) Lp-lp>b.p-bp>Lp-b.p
(2 lp-bp>b.p-bp>lp-lp () Lp-bp>bp-bp>lp-lp
@) lp-lp>lp-bp>bp-bp () Lp-lp>lp-bp>bp-bp
4 bp-bp>Llp-bp>lp-lp 4 bp-bp>Lp-bp>Llp-lp

1. Which of the following compounds show 1. F=folReg § 9 o9 @1 9fe I3[
intramolecular hydrogen bonding? EISRIST 3§ YERid Pear 87
(1) p - nitrophenol (2) o - nitrophenol (1) p- EAPHE  (2) o- ARSHFR
() H20 (4) NH3 (3) H20 (4) NH3

12. Which of the following shows sp3d  12- fF=faRed § & @i sp3d Hawwr yelRia oxar
hybridisation? a7
(1) XeF2 (2) XeOs (1) XeF2 (2) XeO3
(3 XeFs (4) XeOFa (3) XeFs (4) XeOF:

13. In SFs to minimise the repulsive forces the 13. SF,¥ Uiyl 967 B R & forg uaprast T
lone pairs occupy which of the following Fafafea 4 @ 59 Rufa § uw sy 87
positions?

(1} Apical top position (1) srefrr St Rerfey

(2) Equatorial position (@ fgadia Rerfar

(3) Atthe centre @) @ 7

(4) Apical bottom position (4) sefig e Rerfer
[02] - @ Page 3 of 32




14. Which of the following is incorrect for

London dispersion forces?
(1) These forces are always attractive.

(2) The interaction energy is directly
proportional to the sixth power of the
distance between interacting particles.

(3) These forces are important only at short
distance.

(4) Their
polarisability of the particles.

magnitude depends on the

14.

frafafag & o oF 91 dew TPIvE 39 @
forg Tera 87
(1) g8 9ol WaT MPHYB BT &

(2) s oo, SRR S @ 7S
B T G Vo4 T B FAGUNT B |

(3) I8 g1 PaA o TU TP B TETYYl Bl
g1

(4) =TT IRATT HUj B gadr uR R BT
=l

15. Jodide of which 6fthe followingmetalismost 15 fy=ifafas 3§ 9 fow oy &1 NiSEs
covalent? ferpaT TEEdT 87
M Li (2) Na (0 Li (2) Na
3 K (@) Rb 3) K (@) Rb
16. Hyperconjugation is possible in which of the ~ 16- fy=ifaRag # & forer afvigr w9 &7
following?
@ o * cH —E:EBCH—CH
CH; ~C~CH=CH, ’ (|:H S
CH, 3
@ cn,=cH, (2 CH, =CH,
@) cH —CH=CH ®) cH~CH=CH
@) CH—CH—CH=CH ) CH—CH—CH=CH
17. Which test is used for finding unsaturationin ~ 17- 5% e 9fe ¥ g 90 F= &
organic compound? fore @it a1 W fear S &7
(1) Halo formtest  (2) Bayer's test (1) @i gdieor (2) Sax udem
(3} Ester test (4) Hinsberg test (3) TweR Tl @) fe=gast gdgor
18. Which of the following substance gives 18- fafafaa § ¥ ®i9 &1 9erl NaHCOsfder
effervescence with NaHCOz solution? % PRI gEgRIET < &7
(1) RCOOH (2) ROH (1) RCOOH (2) ROH
(3) CsHsOH (4) All of the above (3) CsHsOH @) SwRiFa T
19. Molisch's test is used to identify which of the 19 Hiferer Wieror &1 W Fre=tforfaa § & e
following ? g & ferg far wimr 272
(1) Protein (2} Phenol (1 9= (2) e
(3) Amines (4} Carbohydrate (3) WA (4) FEEEST
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20. Name the alkene which on ozonolysis gives ~ 20- 9 UM HT 99 daigg e ST
acetone? uEes ¥ Ve ura ger 87
(1) 2-butene (1) 2-wd=
(2) 1-butene (2) 1-=EH
(3) 2,3-dimethyl-2-butene (@) 2,3-sgARE-2- S
(4) propene . @) T '

21. Sodium salt of which acid will be needed for 21 fipERINFEr gRT U & fRew & fog
the  preparation of propane by g el & QIRETT FavT BT STaeIHar gHi?
decarboxylation method -

(1) CHsCH2COONa (1) CH3zCH2CO0Na
(2) CH-CH-COONa (2) CH;-CH-COONa
CH, CH;
(3) CH3COONa (3) CH3COONa
(4) CH2CH2CH2CHzCOONa (4) CH3CH2CH2CH2C00Na
= CH, ~C=CH+H,0 —2 /s “ CH,-C=CH+H,0 —2 /5 o
333K 7 333K
‘A’ in the above reaction is - SR Sifafsear 7 'ATE —
(1) CH2CH2CH20H (2) CH3CH2CHO (1) CH3CHzCH20H (2) CH3CH2CHO
@) CH3—%—CH3 4 CH, ~CH-CH, (3 CH3HICI_CH3 (4) CH,-CH-CH,
0 OH 0 OH

23. Which of the following alcohol vapours when 23. fyefaRaT o 9 59 Yopigia & a9 B o
passed over heated Cu catalyst does not give CuSeRF & SR W Jdied F% W Vfessss
aldehydes and ketones? q PleE U a8l 2y
(1) (CHz)sCOH (2) (CHs3)2CHOH (1) (CHz)sCOH (2) (CH3)2CHOH
(3) CH3CH2CH20H (9 CHsCH20H (3) CH3CH2CH20H (4 CHsCH20H

24. CH,-CH=CH-CH,~CH,-CN (1) AlH(i-Bu), 24. CH,-CH=CH-CH,-CH,-CN (1) AIH (i-Bu),

(2) B0 (2) H,0
The product of the above reaction is - SRITT AT BT SR § —
(1) CHz-CH=CH-CHz-CHz-CHO (1) CH3-CH=CH-CH2-CHz-CHO
(2) CHs-CHz-CH2-CH2-CH2-CN {2) CH3-CH2-CHz-CH2-CHz-CN
(3) CH3-CHz2-CH2-CHz-CHz-CH2-NH2 (3) CH3-CH2-CHz-CHz-CH2-CH2-NH>
(4) CH3-CH=CH-CH2-CHz-COOH (4} CH3-CH=CH-CHz-CHz-COOH

25. Which of the following reducing agent 25. ffoiRae o 9 o W e Uesess
reduces >C=0 group of aldehydes and AR PEM P >C=0 WE $ >CH: g A
ketones into >CHz group ? JAEfdd wvar 87
(1) Zn-Hg and concentrated HCl (1} Zn-Hg 3R @r== HCl
(2) LiAlH4 (2} LiAlH4
(3) NaBH: (3) NaBH4
(4) Catalytic hydrogenation (4) IARST EESHET
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26.

26. HBr KCN a HBr KEN [N

CoH,CH,OH—E A 3B CH,CH,OH— 5 A1 58— s

‘C’ in the above reaction sequence is - SURIRT Al B9 W CF —

(1) Benzoic acid (1) SIs® RS

(2) Phenyl ethanoic acid (2 Bfva RS

(3) Phenyl ethyl amine (3) Biver ufdier vl

(4) Hexane-1, 6-dioic acid : @) TRTT—1, 6—SSIATF Il v
27. Product of the following reaction is - 27. fefaiRaa afaftsar o7 Som & —

[ o |]_CH0+(CH3co)20—C“—3C—°-9“"—> [ o H_CHO‘“(CHBCO)ZO-CE—?‘—C—"—O—NE—»

ON 0 1 ch=cH-coon ON o 1t ch-coon

@ 0 1 ch=ch-coom @ [ o 1 ch=cH-coom

3

@[ Oj—l CH = CH- COCH* @[ O]—' CH=CH- COCH,8

4

4 “ 4

@ {cn,—cr, —cro @ [oj—cw—cm—CHo
28 AN + CHCl 3 +KOH 257 28 RNH, + CHCl3 +KOH—2?

The product of the above reaction is - SURIGT AT BT TS & —

(1) RCl (2) ROH (1) Rl (2) ROH

(3) RCN (4) RNC (3) RCN (4) RNC
29. When potassiopyrrole is heated with 29. &g URRR fiRIe & FeReH AR \ifsTa

chloroform and sodium ethoxide, the WIfIES & eI T P4 8, a9 S5 il

product is - g

(1) 3-Chloropyrrole (2) 3-Chloropyridine (1} 3—gaRr iR ) 3—FRI ARSI

(3) 4-Chloropyridine (4) 2-Chloropyrrole @B} 4—7aR ARSE @) 2—7aR) FRG
0. f ] __na 3. I | __xd

@ MeoR~ X @ veoH X

‘X’ in the above reaction is - SR ifafbar # X —

1

()|[0|| a (1)|IOI a

2

(2) IIOII OMe (2 ||Ol OMe

3

® [T o ® [ T o

(4) (Me0)zCH-CHz - CHz-CH(OMe):z {4) (Me0)z CH-CHz- CHz-CH(OMe):2
[02] - @ Page 6 of 32




— Bl o TN
CH (CH, ), CHy——— CH; (CH, ), CHy——
10 — 20 atm 10 20 atm
¥ .
A’ in this reaction is - : 39 ffbar § A'S —
(1) CsHiz (2) CsHsCOOH (1) CsH1z (2) Ce¢ HsCOOH
(3) Cs HsOH 4) CeHs (3) Cs HsOH (4) CeHs
32. - 32. -
NaCN OH  NaOH +Br, NaCN OH NaOH +Br,
CH,CH,| A > B > ¢ CH,CH,| >A—e—>B :
hydrolysis Wil AUTET
C’ in the above reaction is - .
(1) CH3CHz2CHzNHz  (2) CH3CHzNHz 31 R Sifeer % °C %;"
(3) CH3CH:0H (4) CHsCH:CH:Br (1) CH3CH2CHzNH: (2) CHsCHzNH:
(3) CHsCH20H {4} CH3CHzCH2Br
33. A conc. H,50, OO conc. H,S0, 33. A conc. H,8C, OO conc. H,50,
> 40°C ~ 160°C T 40C S ~160°C
‘A’ and ‘B’ in above reaction are SwRIgd fafar # ‘A’ &R B @ § —
respectively -
™) (1) sosH SOM
‘2’.‘ ’ a o
(4) ‘ ‘r‘ ‘ ‘/ @ “ S'°3H“ POt
34. The sites for electrophilic and nucleophilic 34 fIRSM ¥ seagwE AR TGS, AT
attack in Pyridine are respectively at - P W HAM B —
(1) 35;24 @ 2,4;35 (1) 3,5;24 () 2,4;35
35. ] Ni- Al 35. ] Ni-Al
CyHs COOH aq-NaCH C,H, | S l COOH wrefjg NaOH A
‘A’ in the aboVe reaction is - ]
™[] STRIGT SiffEbe A § —
S”~COOH [ ]
@ n S” “COOH
HsCy” ~S” “COOH (2) [ ]
HsC; ~S” ~COOH
(3) CHs(CHz)sCOOH
(4)' | (3) CH3(CHz)sCOOH
HsC. COOH (4) I| l
> HsC; >S5~ ~COOH
[02] - @ Page 7 of 32
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36. The most stable carbanion among the 36. f=forRad ¥ 9 wuifde Wil SEERe & —
following is -

1) © 2) @2 @ =

o CH, @ o M CH, @ o

< *
OCH; ¥ OCH3
© e ) e 5
(3) CH, 4 ch, (3 chy @ Ch,
j NOZ CH3 NOZ CH3
37. Which of the following carbocation is most ~ 37. f=foiRag # & T FERFARE 0D

stable? Rt 87

t)) CHy —CH=CHy (2) CH2=?H ¢)) CHy ~CH=CH, (2 CH2=§H

3) @ 4y '@ ®

1)) 2H, 4) A 3 ?Hs @ A

38. Carbocation is a reaction intermediate in 38. f=fafen fra afdfrar ¥ FERFARE @

which of the following reactions? yfaferar A 87

{1} in E1 reaction only (1) Haar E: arfafear ¥

{2} Snireaction only (2) P Syt ffrar §

(3) Electrophilic addition reaction of @) Pad VABFl B TOEETEE AR
alkenes, only siffrar &

(4} All of the above @) SRRE &

39. Which of the following statements is correct 39 s % & $en $oF SR ARfaA

for Wagner Meerwein rearrarigement? e @ fog wEr 87

(1} It involves carbene intermediate and (1) =98 o 9egdl 3R Sn? fhafafd grT
nucleophilic  displacement by Sx2

P P yoon Tl o e 2
mechanism.

(2} It involves carbocation intermediate and (2) =99 PEEMRM TEIaRl AR Snl Bharfafr
nucleop?ﬁlic displacement by  Swi SR TREEE R wifte £
mechanism.

(3} It involves carbanion intermediate and (3) 59 PENEE Fegadt iR Syt forarfafer

e . i
nucleop?ullc displacement by Sn ERT AR R i £
mechanjsm.

{4 It involves carbocation intermediate and (4) 3O BratEEe FEadl R Sn? fhanary
nucleophilic  displacement by  Sn? T Tt e aie
mechanism.
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40. The % - electron energy of benzene molecule 40 TSI 319] &1 n— SR HBoll & — .
is -
(1) 60+ 6p (2 40+ 4P M 6a+6p @ 400+4p —
B 60.+8p (4 8o+ 8P ©) 60+ 8B (4) 8o +8p
41. Among the following the most stable 41 F=fafeg wvommeil 4 4 waiRs. wm
canonical structure is - PMIPp HFT B—
(Oj C’J@ %\ @ ong ©
= = N
@ @ @ @
| Il ]| I I ]
(M1 2 11 (1) 1 @ 1
) m (4) 1and II Both (3) I @) 19Nt
42. The reaction of benzene diazonium chloride 42 S=iI9 SEYSIIA FARISS, BINic o AT
with phenol to give p-hydroxy azobenzene is B R U gl IS a9 99T &, I8
the following type of reaction - fferiaT UeR @t siffshar & —
(1) Electrophilic substitution reaction (1) solgceE] wfeee rfafkan
(2) Electrophilic addition reaction (2) ge e Sis afafsar
(3) Nucleopliilic addition reaction (3) TRTEE NS ARRHAT
(4) Nucleophilic substitution reaction (@) TR aferenT affhar
43. When an arylhalide is treated with the very ~ 43- =@ YIRe geligs &1 &9 ST § 9gd sl
strong basic amide ion in liquid ammonia, it gRHT TISS FET o Gﬁfﬁaﬁﬁ forar T
is converted into aniline. The intermediate in £ g9 gg tele § oRafda & wmar 21 59
the reaction is - T w1 Hegadt & —
(1} Benzyne (2) Phenyl (1) I (2) BfeF SEEFER
carbocation <y
3 'q\)‘ﬁ-'ia ¥ 4).
(3} Phenyl carbanion (4) Free radical @) PG (3 g e
44. T electrophilic substitution of benzene the 44 I & FoFRIAwIEl HioReTo g Tl
arenium ion formed has- VHFET amm o —
(1) All‘'C’ are sp? hybridised () Ty ‘¢’ sp? Gl &
(2) All‘C are sp3 hybridised (2) =t 'C' sp? Gl &
(3) One ofthe ‘C’is sp? hybridised (3) TF ‘C’ sp3 GHRA &
(4) One of the ‘C’is sp? hybridised (4) 7% ‘C’ sp? TR ¥
45. Under ultraviolet light, the reaction of 45 WRIT wem@ # I 3R Cl 39 @i
benzene and Clz molecule to produce afaferar & AHRIN @1 99§ —
gammexane is -
(1) Electrophilic substitution reaction (1) Selagiaeel wirema sififhan
(2) Nucleophilic substitution reaction (2) TFHETEl TRoRRITG s ar
(3) Addition reaction (3} wror SARAfEHaT
(4 Oxidation reaction. (4) ffrirxoT Sifishan
[02] - @ Page 9 of 32




(1) NaOH
+
N T A
CH3CH2CHO

Which of thé following products is not
obtained in the above reacﬁqn’.’.

(1) But-2-enal

(2) 2-Methyl but-2-enal

(3) 2-Methyl pent-3-enal

(4) Pent-2-enal

47. oH
0 (1)BrCH,COOC, H, / Zn CH,COOC, H,
(2)H,0" g

The above reaction is an application of which
of the following?

(1) Reformatsky reaction

(2) Cannizzaro reaction

(3) Wittig reaction

(4) Mannich reaction

48. Which ‘of the. following rearrangements do
not involve migration to electron deficient
Nitrogen?

(1) Baeyer Villiger Oxidation
(2) Beckmann rearrangement
(3) Curtius reaction

(4) ‘Hofmann rearrangement

46.

47.

48.

CH3CHO.
(1) NaOH

,4 ) A
CH3CH,CHO

Eqﬁw‘aﬁﬁ‘rm 4 frfeiea Siar S
(1) ge—2—3a J

(@) 2—R@ Fge—2—3a

(@) 2R T3

{4) d=—2—3a

OH
§0 {1)BrCH,COOC,H, / Zn CH,COO0C,H,
2)H,0" -

SWigq e FeEfaied § ¥ e
AT 87

() Rwidew sifafear

(2 sfrarr afafear

(3) fafesr sfAfmar !

() =i sifafsean

P 4.9 fivg gid-ara ¥ goregte =@
ASSIoT BT RIFTRTT I 8] 27

(1) R fafer aifeiidRor

(2) SHa= qHfd

(3) wfday arfafsrar ’

(@) SR gafd=ra

i

49. Which of the following dienes does not give  49- f=feiaa didl €FF, Sied Yesx fafdar
Deils-Alder reaction? TE qar?
(1) @ ~ (1 (2 ~#
< -
(3 @ (3 @ #
X N
50. The electrophile involved in Reimer- 50 vig-<Wmm b § fAfdd soogegl
Tiemann reaction is - T —
) @ (2) :cc2 1) @ 2) :CC
CHjz M CH3 @ :
(@ & (4 € 3 4) © ‘
d OH © 8 @ Bu
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51. Which of the following compounds willshow 51 Fr=ifoiRag & & @9 @ 9fe <nfRi
geometrical isomerism? Hagaar faam?
(1) 1-phenyl propene (2) 1-butene (1) 1-8fa e @ 1-=EH
(3) propene (4) 2-methyl-2- (3 e @) 2-9R-2-zdm
butene ‘
52. The E-isomers among the following are - 52. ffoRe § X' g-awgag € —
CH,~C-H  CH;~C-H CH,-C-H  CH,~C-H
C3H7 —C _C2H5 H5C2"C —C3H8 C3H7 _C_CZHS H5C2‘_‘C _'C3H8
@ (ID @D (II)
Cl—(l}‘—Br F-C-H Cl—%—Br F-C-H
i i
H-C-F CI-C-Br H-C-F Cl-C-Br
(1) (Iv) (1) av)
M1 (2) 11 M1 (@ 111
(3) and IV (4) All of the above (3) a1V (4) SuRga e
53. Give the R/S configuration respectively for1 ~ 53- IaiR 1i & forw waer R/S R=arg €ifvg —
&1I- CHO COOH
CHO COOH HO-—I—CHZOH HZN—l— H
HO—|—CH,0H H,N—|—H H CH,
H CH, D (I
ey (1)
(1) RR @ s,5S M RR 2) S8
(3 RS @ SR @) RS {(4) SR
54. Which conformation is most stable in 1, 2- 54. 1, 2-SEFIRT WO iR UH-1, 2-SEelia A
dichloro ethane and ethane 1, 2-diol, HHYE BIF 9T GHYUT Gaitie iR 87
respectively?
(1) Gauche, Gauche (1) iy
(2) Gauche, Eclipsed (2) i
(3) Staggered, Staggered (3) wiaRa, waka
(4) Staggered, Gauche (4) wiafa, T
55. The arbitrary assignment of configuration D  55- Fr=ifoiRea & 5o amer o] &t fa=a D
or L is done by relating the configuration of L =g o § 5 o 87
molecules with which of the following?
{1) D and L glyceric acid (2) D ﬁ L ot
(2) D and L Lactic acid @) DER L SIeP ot
(3) D and L glyceraldehyde @) D3R L fericseres !
(4) D and L glycine (4) DR L TemgH y
]
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6. The square of standard deviation is called - 56. AFE faer &1 a9 Heaal % -
(1) t-test (2) Chi-square test (1) t-wRyegor (2) PE—a71 T
(3) Variance (4) Q-test (3) g&E=oT %) Q-udievr
57. Efficiency of extraction with severed small ~ 57- RoU® & %3 W ARAHI gRT FIspyur &
volumes of solvent than a single large volume TEAT P UHhal JAWE AaT &Y Jetdr A
will be - By —
(1) More (2) Less (1) st 2 o9
(3) s @ SR 9 9
(3) Equal (4) None of the above i 7R
58. How many significant figures does 0.02765 58 0.02765 % fda~ wrRi® 3w 87
have?
1) 4 2 5 1) 4 2 5
3) 6 4 7 (3 6 @ 7
59. The technique of analysis where the 59 fazciyy @1 d@-iie wel FEiRkT &) 9 e
substance being determined is converted yerR! P rgeriel a@ey ¥ uRafda fFar wmar
into an insoluble precipitate which is & RN vea faar wirar 2 3R diar Wi 8-
collected and weighed-
(1) Titrimetric analysis (1) AT fazeryo]
(2) Gravimetric analysis () RIS fageryy
(3) Coulometric analysis (3) getmffa fageryor
(4) Potentiometric analysis (49) fvafadi oz
60. Which of the following is a satisfactory 60 f=faRad # & &9 6T Wodl &R & <RI gdol
indicator for titration of weak acid with A P AT B Y [P Al Td qad
strong base? 27
(1) Phenolphthalein (2) Methyl orange (1) Beferis (2) ARE—aiNwT
3 4
(3) Methyl red @ 1]:3,11‘1?:10phen01 (3) e e @ S o
61. Low levels of CO (less than 10 ppm) canbe  61. CO & =1 ®R (10 ppm & FH) @ [
conveniently measured by - BRI ST ¥ AT T Gdhar 87
(1) IR @) Gas (1) IR () T BT
chromatography
(3) HPLC @ uv (%) HPLC @ uv
62. In ion exchange column wused in 62. Toierdl JergeNTT ¥ Ugad N fafve Piem
chromatographic separation the capacity H gMRE @ &FaT § —
among cations is -
(1) Ca2+>Na*>Th#+>Al3+ (1) Ca?*>Na*>Th*+>Al3+
(2) Th+>Al3+>Ca2*>Na* (2) Th+>Al3+>Ca2*>Na*
(3) Na*>Ca?+> AB3*>Th* (3) Na*>Ca2t> AB*>Th#*
(4) Th#> Ca?*> Al3+> Na* (4) Th#+> Ca2*> Al3+> Nat
[02] - @ Page 12 of 32




63. In which of the following respect HPLC is 63. forfoiRaa e wWew # HPLC, GLC & T
more versatile than GLC? # ot agget 87
(1) Itis limited to volatile substance (1) g 9wl yerf 9@ Sfag &
(2} It is limited to thermally stable @) 78 $Y &9 3 Rer yerl 96 GRg 2
substances @) 78 ST T & AR S TR
{3} 1t can accommodate thermally unstable, . N N
non-volatile compounds and inorganic’ S
ions
(4) The choice of mobile and stationary () et 3l ReR et a1 fapey @
phases is not wide T
64. Which of the following is used as binder in 64 f=faiRag # | BT TLC # O9F & &I 4§
TLC? e T 87
(1) Alumina (2) Cellulose powder (1) YT (2) Sgerg ot
(3) Gypsum (4) Kieselguhr K(3) Rreaq (4) BRT[ER
65. In paper chromatography, the ratio of the 65 U wier® # f5dr uerl /1 73 o1
distance travelled by a substance to the T BT MRS B H G AFD TGRS GRT
distance travelled by a chemically similar T P TE T B 3 B
standard substance is -
(1) Revalue (2) Rgvalue (1) Re 511 (2) Re 5H
(3) Ruvalue (4) Rxvalue () Rm 51 (4) R« A9
66. A verybroad band at 3000-2500 cmlismost ~ 66- 3000-2500 cm?! W IRE UE S,
characteristic for which of the following in CH3CH20CH2CO0H &% LR. et # fereiferRae
LR. spectra of CH3CH20CH2COO0H? ¥ J fhasr faoy agoy 27
(1) O-H stretching  (2) >C=0 stretching (1) O-H =T (2) >C=0 BT
(3) C-Ostretching  {(4) C-H stretching (3) C-0 TR @ c-HE R
67. Identify the compound whose mass 67- 99 dfG @ TEEW N, ST FEAE
spectrum shows m/z values at 156, M* base WIgH m/z A9 156 W M* 3R RER 127
peak at 127 and 29? AR 29 W YR F=ar 27
(1) CHsBr (2) CaHsl (1) CHsBr (2) CzHsl
{3) CHsl (4) C2HsCl (3) CHal (4) CzHsCl
[02] - © Page 13 of 32




68. How many carbon thirteen NMR signals will 68 afifecie # faaw ®rdw dvg NMR Rraar <=
be observed in Mesitylene? STG?
(1) 2 signals (2} 3 signals (1) 2 RrF=ar (2) 3 RF=a
(3) 4 signals (4 6 signals @) 4 fF=a (4) 6 R
69. Chromophore showing both & — #* and n — 89. 5 * 3R n - n* T HHAU Iﬁf?jﬁ B
7* transition is - Il SPHIBIR & —
(1) Nitrile (2 Ethylene (1) SgcIsa () uferel=
(3) Acetylene (4) Conjugated diene (3) whyfeel= @) T ST
70. Shift of absorption maximum towards  70- @Yl ¥Y & e qRTRE @ AR fawmoE
shorter wavelength is called - Bl PET B
(1) Hypochromic effect (1) srgael wuE
(2) Hyperchromic effect (2) guifeemrh e .
(3) Hypsochromic shift’Ps (3) quiiymdl g
(4) Bathochromic shift (@) goiicpdl ey ;
71. Which structure of protein is related to 71. oM 9 P A e YHET onet & fafte
specific sequence of amino acids? w9 o e 87
(1) Primary structure (2} Secondary 0 gIfEE ST 2 fefias I
structure
(3) Tertiary structure (4} Quaternary @) e d@vm (4) Tgsp e
structure
72. Which one of the following isnotan essential 72 f=loiRag § & S &1 TP VAT 3+
amino acid? 8 B8
(1) Valine (2} Leucine (1 3= (2 =R
(3) Alanine (4} Lysine (3) TaEE %) asdE
73. The sugar moiety present in DNA molecule ~ 73- DNA 319 # UV SRIY $TIg & —
is -
(1) B-D-fructofuranose (1) B-D-sheciueg¥iv
(2) B-D-Glucopyranose (@) B-D-TPIIEEN
3) B-D-ribose @) B-D-wigdr
(4) B-D-2-deoxyribose @) B-D-2-fsiiRTt <ma™
74. Glucose on reaction with bromine water 74 @I B FH oI O AFARHAT GRT 91T BRAT
gives - &
(1) Pentabromo derivative (1) JueTEEr =
(2) Saccharicacid 2 Y3R® =T
(3) Gluconic acid ®) @I
4) n-hexane @) n—tw=
[02] - © Page 14 of 32




75. Number of isoprene units in citral are - 75. Rygd # SIgAMT SHIEAl @) HE o
M2 (2 3 (1 2 (2 3
3 4 @ 5 @ 4 @5
76. Which of the following statementisincorrect ~ 76. =i & ¥ B A1 BT ool QoA
for aldol condensation reaction? yfiferar @ forg werg &7
(1) ?,I_‘he first step is deprotonation at the o- (1) ggel TR a-gEsie Rl § s@guer &)
hydrogen posttion. @ = TR T o B R et
{2) An-aldol reaction occurs between two N N
- gfaifspa $H wH
aldehydes or ketones and at least one i
reactant must contain an c-hydrogen HFHHNF H o - FERIS TN BT A0 |
atom. @) 31 YceEel & Iy AfAfBAr @
3 g
(3) The product of an aldol reaction between B -t B 31
2 aldehydes is a B-diketone.
@) TSl wieishan C- C 87 g
(4) An aldol reaction is a C-C bond forming @ b
77. Which of the following is' the product for 77~ FiF # § SF—a1 Y- RRFR siRiewT F1
Baeyer - Villiger oxidation? IUE 27
(1 (M
0 g 0
{ {
2 (2)
; \
0 \0 0 \0
3) E (3)
0] o/
\ \(0
) Lb ) Ab
\
\ \
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78. Predict the productformed in the following

Birch reduction -

O Me
Na,NH3
Et,0,EtOH
(1) OMe (2) OMe
(3) OMe (4) OMe

O

79. Which of the following aromatic compounds
alkylation with

methyl chloride and aluminium chloride?

undergo Friedel-Crafts

(2) Nitrobenzene

(4) Aniline

(1) Benzoic acid

(3) Toluene

80. Which is the main product of the following
rearrangement of a bicyclic diol?

HC OH

o

4) Q

78. for=ferRRag f9d ervays & 918 999 9Telr Sarg
&
O Me

4

Et,0,EtOH g5
(1) OMe @ ome ~
@) OMe 4) OMe

79. ferfoiad § 9 BN W1 3 P wiREgs
IR TR FERES B ARI Bred—hraed

TepTgele & T[oiRdl 87

Na,NH
4,3

(1) IS5 ar<t (2) g
() e (4) Tl
80. v qEAEfe S @ Aefafad

qeqeel] &7 & SWg HIF ar 87

M

(2) 0

3 o

) 9
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81. Which of the following is the product of 81 /T ¥ ¥ B W Ferdwi-¥e AfAibar F1
Claisen - Sclimidt reaction? IS &7
(1} @, B-dihydroxycarbonyl compounds (1) o, p-SEERSRN FEia  qfiS
(2) B-hydroxycarbonyl compounds @) o, peEsr FEte A0S
() a-hydroxycarbonyl compounds 3 gEESRD) PEite 9w
(4) None of the above (@) SR & ¥ IS e
82. The structure of product (X) in the following 82 fr=ifaRaa =fver sfifhar # see (X) =
Mannich reaction is - TR B
C Q
@’u\ +{ )+cH,=0— X +{ YicH,=0— X
N ) N
| |
H H
(N i (1) 7
@LANO ULANO
0 " 0
3 i &) i
Loy Yo
N N
4 g @ r
X L <91 !
83. predict the major product (X) in the 83 fw=ifaRea Refic aMiHaT &1 78 SR
following Reformatsky reaction- Xz -
Br CH, COOEt —2» 22055 Hzf‘ > X BrCH, COOEt —2» 2520, 125045 %
H,0 H,0 A
(1) HyC-C=CH-COOH (1) H,C-C=CH-COOH
CH, CH,
@ 9 @ 9
H,C-C~CH, -CH, ~COOH H,C~C—CH, ~CH, ~COOH
(3) oH (3) OH
H,C - C - CH ,COOH H,C - C— CH,CO0H
CH, CH,
(4) H,C-C=CH-COOE! (4) HC-C=CH-COOE!
CH, CH;
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a4.

85.

86.

Diels-Alder reaction of cyclopentadiene and

maleic anhydride produces following
product -

(1) endo adduct (2) exo adduct
(3) transisomer {4 meso compound
Which of the following is true of any (S) -
enantiomerism?

(1) It rotates plane polarized light to the
right

(2) Itrotates plane polarized light to the left

(3) Itis aracemic form

@1 is

the mirror image of the

corresponding (R) - enantiomer

Which among the following compound is not

a stereo-isomer?

84.

85.

a6.

RTINS TG Afe TTEEsEs © 99
@m—waﬁmﬁwwﬁéﬁ%—:

(2 v SwE
@) 3= I

(1) Jsi sag

(3) i gHEge

FefeRea & @ o8 (S) - sRifdssua

(TifrAR) @ R a2

(1) g FAde AP THTer o If IR AT
2

(2) o1& wqer YA WebTer HI 1Y SR AT
g

(3) 9% t5 e &y §

(4) ¥z HaEq (R) - TIRMIAER &1 guof gl
8

Frefofag § 9§ oar BRE gaead

(ERaA-angwirR) TE &7

1) CI
(1) Y,\GHS
Br

(20 O©H

.,.?\,
o

@) COOH
H"/kNHz

) jéCOOH

H™ "NH,
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87.

88.

89.

Choose the most stable conformer of n-

\ 3

2
()H_.
P

CH
H
H

B
G .
1
H
(3) HyGCHs
B

H,

Hy
Hs.

(4) HCHy

The most stable conformation of ethylene

glycol is-
(1) Anti (2) Partially eclipsed
(3) Gauche (4) Fully eclipsed

Which structure is different from the

87. p-ge & R FHHR B FIG BRI —

> "’H
88. UM TelgDId @) Hed ReR WA B
(1 &1 (2) ¥ wu ¥ I
(3) i (@) T8 o%E ¥ T

89. P T W e & @i @7

following? O’
o4 d
L
M e ‘ M o
H
2 " @ i
GH:\Fﬁ\ CHy CHINM\ CHy
H H
@) H (3) H
Hﬁ CHy H s
CHy CH;
(3) cHy {4) CHy
Wg@ H C‘H;@ H
H H
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9. For  the generalized structure  90. WHRAIGT W=ET BrCH2CHCICH2CHCICH2Br
BrCH2CHCICH2CHCICH:zBr there exist what foa wdem # Bfm oaemd (&R
number of stereo-isomers? GTI':RTH‘\’) 9T B?

(12 (2 3 (1) 2 (2) 3
@) 4 @ 6 (3) 4 @ 6

9%. Which compound would show optical 91 gawr ofear (@Eifera wERE) e & @
activity? DI AfE TIgET?

(1} Cis 1,4-Dimethylcyclohexane (1) RT1,4-SE-AR aTEqa) faaT
(2) Trans 1,4- Dimethyl cyclohexane () 9 1,4-SE-AT AR SR
(3) Cis 1,4- Dimethyl cycloheptane (3) R 1,4-SE—IRF Aigdel 2T

(4) Trans 1,4- Dimethy! cycloheptane @) ¢ 1,4- SR TRl foT

92. Which sentence is false about EDTA? 92. EDTA @ R ¥ 99 W1 919 TTaq 87

(1) Alkali medium is required for complex (1) Sifeer a9 & fow gR Arm @
ion because EDTA will ionize more in IEATIHaT Bdl & 0P EDTA &R w99
alkali medium. ¥ 3 oafd BT &

(2) EDTA forms complexes with all metal (2) EDTA W) I 3R & el gRER) o
ions. or et

(3) Ethylene Diamine Tetra Acetic acid (3 PRl TE oM 2E Rt Ry
(EDTA) and its disodium salts are (EDTA) 3R 39 oI i wawr TE)
versatile complexometric agents. et Tef ¥

@) {xlkali medium is req!Jirt.ad :for complc.ex @) SRa ome & Ry ax T @
;ocrildilzeltr:la:;sii nlliDTA will ionize more in T wp—

' EDTA 0% smafvig &ir 8

93. Which of the following is used asan indicator ~ 93- TF yoa 3l 3N gdel &RP & oA
in the titration of a strong acid and a weak Hoad @ w0 # F=fafag § @ fgar sug
base? fean rar 872
(1) Phenolphthalein (2) Thymol blue (1) TR (2) errgErer e
(3) Fluorescein (4) Methyl orange (3) TaRRE () Afxer iRt

94. A 0.1N solution of sodium bicarbonate has a 94. WifeTw qEHEME & 0.IN @ &1 pH 7+
pH value of - BT & —

(M 5.6 ) 7.0 (1) 5.6 2 7.0
(3) 8.4 4) 13.0 3 8.4 4 13.0

95. Which analytical method is based on the 95 a@dy (fifte) & oo@ w® oN O
weight of the precipitate? freelyoers fafer amenfRa 22
(1) Acid base titration (1) 38R SIAT
(2) Complexometric titration (2) Hgatria sraE
(3) Precipitation titration (3) STEEIYOT SRAITT
(4) Gravimetry (4) o AT
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96. Which one of the following conductometric
titrations will show a linear increase of the
conductance with volume of the titrant
added up to the break point and an almost
constant conductance afterwards?

(1) A strong acid with a strong base
(2) A strong acid with a weak base
(3) A weak acid with a strong base
{4) Aweak acid with a weak base

97. The mean and median of the following
numbers are respectively -
5,6,4,3,9,11,18
(1} Mean =8 Median=6
(2} Mean=6 Median=8
(3) Mean =7 Median=12
(4) Mean=8 Median=16

9. Which is
conductometry?

working  principle  of
(1) Measurement of potential

(2) Measurement of conductivity of solution
(3) Measurement of emf

(4) None of the above

99. The pH range of methyl orange as an

96. fifeifad 3§ & DI G Terbanakig AT
el B e Maw ghy e S
A (T5Re) o AP @1 M fdg 9w
IRST ST 3R @1 § o ReR =reiepal
BII?

(1) 9aet oF el & WT T9d &RS
(2) USe o B RS GHA GRS
(3) Soe 7T & ART Uh Ydd SRS
(@) o a7 & AR US G MRS

97. fopfaRen deuel & Wy wd Aiftawm S
¥
5,6,4,3,9,11,18
(1) A = 8 #ifeysd1 = 6
(2) ory = 6 HIETHT = 8
@) arg =7 wARgdT = 12
(4) Arem = 8 WIRYHT = 16

98. BTy 3 U fFa fEid W oM ol
27
(1) faqa &1 wqorr
(2) 9 & TreTHaT DI IO
(3) €Y. B IO
) ST & ¥ PE T

99. e 3R & YIF & wT A pH ¥ & ~

indicator is -
(1) 3-5 (2 8-9 (1) 3-5 2) 8-9
(3) 24 (4) 6-8 @) 2-4 4 6-8
100. variance is - 100. gy (@RYw) © -
(1) Half of SD (2) Square root of SD (1) SD &7 3N (2) SD &1 Tt
(3) Square of SD ) Twice of SD (3) SD &1 T (4) <7 4R SD
101. Which of the following methods is used 101 fr=ifeia & & IR AR o1 wam fRawor
determine partition coefficient? Ui BT S F3 | [T S 87
(1) Solvent evaporation (1) foemae arsfisRo
(2) Double emulsification (2) SrEvT SHTEIBRYT
(3) Shake flask method (3) 9% g fafer
(4) Racemization (4) YRz
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102. Which force is involved in the paper
chromatography?
(1) Hydrogen bonding
{2) London dispersion force
{3) Electrostatic force
{(4) All of the above
103. [on-exchange chromatography is applicable
for the segregation of which type of
molecules?
(1) Polar molecules
(2) Non polar molecules
(3) Both of the above
(4) None of the above

104. Good chromatographic separation depends
on the minimum value ‘of HETP, following
condition will yield the minimum HETP
value except -

(1) The initial sample size should be small.

(2) Particle diameter of stationary phase
should be small.

(3) Temperature should be high.

(4) Dead volume should be minimized.

105. The mobile phase flows by which factor?

102. FH\w7 97 YR BN § WS 87 _

(1) gisgioN d&=
(2) sie= faeror 9o
(@) geEgefe® ga
(@) SR W )
103. {5 YR & SRl @ geraheoT & g S
mﬁazﬁﬂaﬁuﬁm%“? i

(1) g gt
@) R ydrr s
(3) SRRH <M
@) =¥ 3 B T

104. 3ra7 HICINh® geg@<er HETP & —IwcH
T R R v 8, Frafaieaa Rafg @
Bre®Y <L7d HETP A W 81T —

-

(1) SRS T $T SR BIET BT AMRY |
(2) RRR @A &7 FU AW BIeT B4 TR |
(3) o 3t BT AR |

(4) MfEFY SIRITE B! F9 a1 ST Y |

105-?Hﬁw$mvﬁ¥ﬂam@nmaﬂﬁr
?

(1) Capillary action (1) fRreT T
(2) Partition coefficient (2) faeRYT Ui
(3) Temperature () TmEE
(4) Alloftheabove | F %) SyRigT a4
106. The reagent which is used to detect halogen ~ 106. 98 aifiy+e i &1 goell wa diCHTH! §
derivatives in thiir layer chromatography is - i:)fhm R P A BT FART b o
(1) Ninhydrin Reagent ’ (1) frreTsise Al
(2) Sulfuric acid spray @) GaRRE TRrE |
(3) Silver nitrate spray (3) fcav-Agge B
(4) UV Cabinet @) 341 e
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107.

108.

109.

110.

111,

112,

113.

114,

The nature of stationary phase in reverse
phase chromatography is -

(1) Hydrophilic

(2) Hydrophobic

(3) Can be hydrophilic or hydrophobic

(4) Depends on structure of eluent

The preferred stationary phase in TLC is -
(1) Liquid held between glass

(2) Glass plate

(3) Silica gel

(4) None of the above

The carbonyl group in methyl dcetate gives
wave number in IR spectra -

(1) 1400-1500 (2) 1600-1748

(3) 900-1100 (4} 500-900

What kind of spectroscopy is well suited to
the study of configuration and conformation
of molecules?
(1) NOESY

(3) HETCOR

(2} cosy
(4) None of the above

Hybridization effects on the chemical shift
value -

(2) spz>sp>sp3

@ sp>sp§‘>sp2

(1) sp>sp2>sp3
(3) sp3>spZ>sp

Which isotope of carbon is used in C-NMR?
(1) 12C (2) 14C
(3) 15C (# 13C

How many protons produce doublet () in
NMR spectrum of paracetamol?

(1) 2 (@ 3

() 4 @ 5 :

When absorption energy is increased, then
the shift is called as -

(1) Hyperchromic  (2) Hypochromic shift

107.

108.

109.

110.

111.

112.

113.

114.

(1) 12¢ ~

Tohid MR TS H el YAl &
ugfa gkl & —

(1) STeeEl (BTgsithicrn)

(2) STafRrl EESwIiN)

(3) STeR-El a1 SIAfaREN B e 2

() sgT< oI WA W R Fd 8

TLC % %= &I&T yraeen & ~

) a9 ¥ @ O

(2) o =i

(3) Rfermt o

@) SRR § ¥ Pig 78

ISR, T H AfdreT Teiiee ¥ sl W
g 7TRR 4T § —

(1) 1400-1500 (2) 1600-1748

(3 900-1100 {8 500-900

fra neR o Wagadl el & faa sk
AT B R @ foIg SugE &7

(1) NOESY (2) cosy
(3) HETCOR @) SWRRe 4 ¥ B
R

Hifde Rie geag W FHvor y9E —

(2) sp2>sp>sp3

(3) sp3>sp?>sp (4) sp>sp3>sp?

BT B {FH qEIE H 99 C-NMR 4
faay e 87

(1) sp>sp2>sp3

(2) 14C
(3) 15C (4) 13C
WRcHd @ TITHAR Waed 7 fdaw

WEF, 9 (8) T &7

M 2z 2) 3

3) 4 it @5

g g e gy B § o Ree
8T 1T & — ’

(1) Toiiferemall famem= (2) srgavlt e

shift
(3) Bathochromic (4 Hypsochromic (3) guricepdi fawrmasT  (4) guriveyT favedT
shift shift
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115.

116.

117.

118.

‘Arrange the following electromagnetic

waves based on order of energy -

(P) X-rays

(Q) Microwaves

(R) UV rays

(S) y-rays

(1) X-rays> Microwaves>UV-rays>y-rays
(2) y-rays>X-rays>UV-rays> Microwaves
(3) Microwaves>X-rays>y-rays>UV-rays>

@ uv- rays> X-rays>y-rays> Microwaves

In the process of Embden - Meyerhof

pathway there are some steps which are

reversible and some of them are irreversible.

;j‘here are some steps given below, which one

of them is-not reversible?

(1) Glucose-6-phosphate to Fructose-6-
phosphate

(2) Fructose-6-phosphate to Fructose- 1, 6-
bisphosphate

(3) Glyceraldehyde-3- phosphate to 1, 3-
bisphosphoglycerate

(4} 1, 3-bisphosphoglycerate to 3-
phosphoglycerate

W_hat is the molecular weight of hurhan

‘ha;emogloﬁin?
(1) 65,500 (2) 64,500
(3} 68,000 4 68,500

Rapaport - Leubering' cycle is mainly
concerned with the synthesis of -

(1) 2,3- Bisphosphoglyégrate

115.

116.

117.

118.

IR IR afer BRY —

(P) X

(Q) wTsEhIdeS

(R) UV

(S) ¥

(1) XXS>AIEBIIes> UV—IG>y-Ref

2) y—3e>X—X7> UV >ATgh s

(3) g X—a> > UV

) UVRG>E—T>y-—T> AIEhided
TEET—AIwRIG AN B AT § ge W
wRad § o) S 9 g uRed a8 31 99
BB TR {T T € $T W i et W€
&

(1) TSP ¥ HI-6-Ghe

(2) IS —-6—PRBT I HIerT—1,
6—Teumieme

(3) Rereiicsems—3—BRbe ¥ 1,
3—faamiRIReRRe

@) 1, 3-REBBIFame ¥ 3—PRBIFaTE

AT EHITEE BT Afves AR e grar &7

(1) 65,500
(3) 68,000

2) 64,500
{4) 68,500

{2) Oxaloacetate (2) sfaniice
(3) N-acetyl glucosamine-6-phosphate (3) TI-TRIEES TRPIAMEIST—6—BEBE
{9) Glucose-6-phosphate (8) TI@BrI-6-BRBE
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118. The synthesis of cholesterol may be learntiri
5 stages - .
1. Production of isoprenoid units

Formation of mevalonate

Synthesis of HMG-CoA -

Synthesis of squalene

Conversion of squalene to cholesterol

Arrange them in a sequential manner -

(1 1,2,3,4,5 () 2,1,3,5,4

3 3,2,1,4,5 @ 2,3,1,4,5

vt N

i

119,

aﬁéw$wséﬂwﬁ5a‘m’rﬁ@@rm

BT B

. ausﬂ‘rﬁﬂTs—s stms‘mm B?Erm‘rr

" 2. dgerie BT i

3. HMG-CoA T HIegor
4, THETCIE BT HIelyor

::5. W;Taﬂﬂfmaﬁémfrwm

= shHeJca T X IR W — -
)] 1 2 3,45 (2) 2, 1,3,5,4_ \

@) 3,2,1,4,5 @4 2,3,1,4,5
120. Name of the optically inactive amino acid - 120. 3iiemer FFT AT o7l BT AW § —
(1) Glycine (2) Leucine (1) e @ ==
(3) Isoleucine (4) Proline @) onggiegET L (4). HeET
| 121. Match the following substrate .and its 121 FrefiRed weage R 509 dctnrz 1. fidrH
‘product - N =
a. 7-alpha-hydroxy 1. Vitamin D3 a. 7-Qoh— g‘]ggrcﬂﬂ 1. faemg €3
cholesterol PRI o]
b. Progesterone 2. Estrogens b, HIeRERE 2. o
c. Androgens 3. Mineralo- c. Gere 3. AR sed
corticoids d. 7-fEeEgeeRga 4. ‘ensa TS| ‘
d. 7-dehydrocholesterol 4. Bile acids )
(1 a-1,b-2,c-3,d-4 (1) a-1,b-2, c-3,d-4
) a-4,b-2,¢-3,d-1 2 a-4,b-2,c-3,d-1
@) a-3,b-1,c-2,d-4 ®3) a-3,b-1,c-2,d-4
(4) a-2,b-1, c-4,d-3 @) a-2,b-1,c-4,d-3
122. The structure in which all peptide chainsare 122 98 Weary o &t s sfEemil @ gof
stretched out to full extension and laid side foR o B o &R s Gﬂﬁ’a’cﬁ
by side through intermolecular hydrogen gigoo € B HT?I—T&T%T TET \—,Wg;
bonds is called -
o
(1) o-helix (2) B-pleated sheet (1) sew-gferme | (2 drerwhics e
(3) Tertiary structure (4) Quaternary @) qée '\H'?EFIT () =i ﬂw -
structure it
123. Which of the following is also known as 123 79 % 9 &9 Wiy w&~1 (§76E ¥R) Qﬂ PEl
invert sugar? ST 87
(1) Sucrose (2) Fructose (1) g;ﬁv[ ) (2) q,—cram
(3) Dextrose {4) Glucose (3) @zﬂqg-ja (4) ‘lii(ﬁﬂﬂ R
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124.

125.

126.

127.

128,

(3) Antiparaliel

Bile reduces the surface tension and causes -

(1) Emulsification of fat
(2) Digestion of fat

(3) Absorption of fat

(4) All of the above

The two polynucleotide chains in DNA are -

(1) Parallel (2) Discontinuous

(4} Semiconservative
Drug that is used for the treatment of WPW

(Wolff-Parkinson-White) syndrome -

(1) Propranelol (2) Flecainide

(3) Both (4) Nome of the above

Drug of choice for pulmonary edema -

(2) Mannitol
{4) Glycerol

(1) Furosemide
(3) Acetazolamide

Structure of penicillin nucleus consists of

(1) Benzofuran + B-lactam ring
(2) Thiazolidine + B-lactam ring
(3) Only B-lactam ring

() Quinoline + B-lactam ring

124.

125.

126.

127.

128.

O 9ag & T9E BT B BRAT 8 N o
BT PR I & |

(1) T & YRRATBR

(2) au1 & g

(3) I & AT

4) SREH T

ST ¥ T feedicss ST ...

BRIl B |

(1) HAFIGR (2) argaa

(3) TR IR (@) skl aRBRY

WPW (dies—uifda-—erse) Righ @ STar

% foT SUIRL & &M drell &a1 —

(1) Sy () wEES

@) IwfT sE @ SEw # ¥ o
&

BIRH TeAT & oy STURT # off 9 arell

Tar —

(1) FRRMES @ AFeE

@) tREeNeMEs @) RaRid

el i @ =M 7 e +

...................... A I §Y B B |

(1) ISR + Bt R

() Rramgiferssd + p—eigeq fr
(3) Paa p—oraeq far

(@) fo=iferT + B—eigen R

129. Jarisch — Herxheimer reaction is the adverse ~ 129. SRe—gwisg™R wiafsar Suge I & <ar
drug reaction in syphilis patient when DI Yid HIATHar 8 T WM BT o
patient is treated with - . 9§ gotrof fohar ST 2
(1) Cephalosporin  (2) Penicillin (1) IFEEROIRT (2 ufefafes
(3) Tetracycline (4) Erythromycin () AcraEfYeT (@) TRaaERE

130. Example of broad - spectrum antibiotics - 130. W—@i‘i’q gicreial Sarell ®7 IEER B—
(1) Tetracyclines (2) Penicillin (1) Sgrasfies (2) uAfaRe

i
{3) Chloramphenicol (4) Both (1) and (3) (3) TN @ 31 (1) TE (3)
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131. Mechanism of isoniazid resistance is by

132.

mutation of ... and ....oecerveeenes gene
so that the bacilli do not generate the active
metabolite of INH.

(1) Catalase peroxidase & inh A

(2) TP53 & TP56

(3) HOXB2 & HOXBé6

(4) SFTPB & AGER

Mechanism of action of rifampicin is -

(1) Inhibit DNA dependent RNA synthesis
(2) Inhibit RNA dependent DNA synthesis
(3) Inhibit mycolic acid synthesis

(4) Inhibit DNA gyrase

131.

132,

Il INH & |afhg 9ammaal & Sa= |
Cadl

(1) deree RifFaed iR inh A

(2) TP53 iR TP56

(3) HOXB2 3fiT HOXB6

(4} SFTPB ik AGER

Rl @1 fFar &1 o3 & —

(1) ST R R AIRTET e &
NEZH

(2 IRTAIY W R ST G B
NG

(3) AISHITD o7 HIATYT DI BT

4) SN RN BT A

133. First line therapy for brucellosis is - 133. IR & oy Teel dftr fifper & —
(1) Combination of doxycycline and (1) Sifeaagiies ok RefaRm 1 daiom
rifampicin
{2) Combination of penicillin and rifampicin ) SFiRicr oz RefuReT wr Serore
(3) Combination of doxycycline and @) SifrgaEir sk YeEiRT B gae
cephalosporin
(4) Combination of tetracycline and (4) SgrEfer, SR ARRer o1 wailsr
penicillin !
134, Barbiturates act on the ... receptor 134 Fifeqe ... o Rerer R a1 %ar 8
and increase the ........cooccnenee. ion flux. 1 S AT TeTad Pl ST & |
(1) GABAs, CI- (2) GABAg, CI- (1) GABAs, CI- (2) GABAg, Cl-
(3) GABAG, Cl- (4) GABAa, Ca* (3) GABAc, CI- (4) GABAa, Ca*
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135. Structure of chlorpromazine is -
M N

@E eg

(2)

[mm
N

CO@
N
L

Both aspirin and salicylic acid are conjugated

@)

136.

in liver with . and converted into
(1) glycine, salicyluric acid

(2) glycine, salicylic acid

(3) glucose, sulphonic acid

() None of the above

137. Which of the following NSAIDs inhibits
irreversible COX enzyme and acetylates it?

(2) Tbuprofen

(4 Celecoxib

(1) Aspirin
(3} Etodolac

138. 1 mg of international standard of insulin =
(1) 58 unit (2) 36 unit
{3) 26 unit (4) 28 unit

139.

Metformin causes little lowering of blood

sugar level in -

(1) Non diabetics

(2) Obese diabetics

(3) Type 2 diabetics

(4) Diabetics
sulfonylureas

not responding to

135.

136.

137.

138.

139.

FARGATSINT B HFT & —

DR

C( heye

2

@ hoye

D
X

Do
*oq)

................ T GRI YT B 8 AR o
. § aRafda & o 21

(1) R, SRR e

(2) esim, Sfaffos s

(3) TeTo], FbITTH 3

@) SRga 4 9 g T8

(3)

(4)

Ffafaa § ¥ $F W NSAIDs URaa-g
COX TSI &y bal 3R Ricgee oear 87
(1) TRaR= () arsgiH

(3) weke (4) Iy
SoF 3T U UM, &7 RISy AMe =
(1) 58 3@ (2) 365H1E

@) 263FE (4) 283@1E

fra oRRuft o JcorfEw o0 791 § <7
TP TR 87

(1) 9 srfdfes

(2) g sfdfes

3) ey 2 sEfafew

@) erfalRs 59 W Iedia IR 1 g9[@
€T T XET B
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140.

141.

142.

143.

144.

- T T T T

Mechanism of action of furosemide is -
(1) Inhibits Na*K*2Cl cotransport

(2) Inhibit Na*K* ATPase

() Inhibit carbonic anhydrase enzyme

() Act as osmotic diuretics

Paclitaxel enhances polymerization of
tubulin, a mechanism opposite to -

(1) Podophyllotoxin

(2) Camptothecin

(3) Pyrimidine antagonist

(4) Vinca alkaloids

Doxorubicin produces a unique adverse
effect -

(1) Ototoxicity (2) Hepatotoxicity

() Cardiotoxicity =~ (4) None of the above

Paclitaxel is' complex of which taxane?
(1) Diterpenes (2) Triterpenes

(3) Tetraterpenes  {4) Monoterpenes

Resistance in plasmodium falciparum is
associated with a decreased ability of the
parasite to accumulate chloroquine. A drug

has been found to restore both the

140.

141.

142.

143.

144,

~

RRINAES & 51 o7 951 8-

(1) Na*K*2Cl PIgiale H I

(2) Na*K* ATPase &I W

(3) FEIE TIEESS Trolisy Pl ]
(4) WYl EaE & w7 § B B

93T &, $Ho fATd IF 9F o

(1) drerpRreieiie /
(2) DRI

(3) TR el

(8) =TT Topleilgs
SRR @ afgdh ulgs v Yar
P & —

(1) e (@) sieEiaie
(3) wicTEiEE]  (4) SRgT § ¥ B8
BEl

e fra SR o1 1o IR 27

(1) Sged= (2) greevdi=

(3 <greed= (4) AFRedH
AT et § iR Feliifdas o
FRA B Y wedl B B9 FEa b ARl el

TN § | TARIGa B Divad T BT &9 iR
Rl & 39 € & Ul aeefierr ] @t

chloroquine concentrating ability as well as geiifia e & fore ye ar o T @ -
sensibility to this drug is-
(1) Verapamil (2) Isoniazid (1) R (2) TS
(3) Warfarin (4) Phenytoin (3) dREIRT (4) Bfvciza
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145.

146. T,

147.

148.

149.

150,

Which of the following anti diabetic drug is
‘euglycemic’?

(2) Metformin

(4) Nateglinide

(1) Phenformin

(3) Repaglinide

minimize the adverse effect of
primaquine, drug should be -

(1) Taken with meal

(2) Taken with fatty meal

(3) Empty stomach

(4) None of the these

Primaquine can cause frequent adverse
effects like leucopenia and haemolysis in
patients of -

(1) Rhematoid arthritis

(2) AIDS

(3 Sickle cell anaemia

(4) Diabetes

Reye’s syndrome is associated with -
{2) Paracetamol
(4} Penicillin

(1) Aspirin
(3) Tetracycline

Paracetamol is which type of active
metabolite of phenacetin?
(1) De-ethylated

(3) Hydrolysed

(2) De-acetylated

(4) Oxidised
N-Acetyl-p-Benzoquinone Imine (NAPQI) is
a highly reactive arylating minor metabolite

of paracetamol which is detoxified by

145.

146.

147.

148.

149,

150.

frfaRag & & o TE fRE gar
TS B

(1) BT (2) FecwHifia

(3) Riferss (4) Jeficss
WIS ST & WRige W9d & &9 H &
fom =9 -

(1) ¥IS9 & 9T o9 A1y

(2) TERIET WM & WY o Aiey

(3) @relt 9 T =Ry

@ 7 A PE TR

UEEIET g 3R SR o
yfise TIa U Y6t W) wedr §, e Al
¥ _

(1) wHeIgs Wi

(2) Ts9

(3) Rrepd |el THIHAT

(@) wpE

R-RigH feud e ST gar 27

(1) TRaRa (@) YRrerta

(3) CeraEfde @) ufAfafer
IIRERd BAReT &1 58 TeR &1 9%y
ACEIEsE 87

(1) S—surecs 2 d-vdiemecs
(@) EEREETS @) sifadesss

N—ufega—d-ifaq g (NAPQI)
Rifteria &1 e ufifraEia sREwfeT
TEEEE 8, PR T WGEH R

conjugation with - TectriieTg fvar e 81

(1) Glutathione (2) Glucuronidation (1) “erRmE (2) TqERHST

(3) Oxidation 4 HYdI'OIYSiS (3) TR 4) Wﬁm
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